MNTH 204

FRTE Name
llo Sept 2005 Sechon

Fellous +ha diceehions Ca.re.%.k“\l.
Shous all of your clearly in pencil:




I Rnd tha ﬂmenﬁrm\ eoluthon o Ha foll ;
‘fs_d_\{_ : AT ﬁu—‘rmﬁ DE
L S = SLICSE

Fia *
a -H\u_ \a_r-&.erg't‘ 'Lr\-'ﬁ{{‘\lax.‘\ I oo @L\i\’.‘.l\ 'H\Q_ ;
Geracal soludion 16 dafined.
dy - g = xsi
= % sinls)

dy ?
I1F.¢e &d“ e.‘inx 4

}C—i Ay = ,
(a-}f’ S = xsin00 )

-
1.8 9[_}3 ‘%1_ = ain(x)
AX *

4 Fiw o
2 [ty b m sint)
jaé:‘ [1-431 dy = fﬁfnf?‘-}dl

x*'t\ = = Cos(y) +C
4o = CX ~ X Cos(x)

rdy -y = wFein (k)
A%

ay
e’

Px): (-o,0) U (o)
o R
T Ry o




Z. ii?:h:oa- Cold baor ot 40°F is placed into a
em ot 70° F, SLLP'FCILL 1O ming fﬂd"e-r; tha
‘i’f‘-m]:arm;l-w\q_ of tha boor jg 48°F Use MNewton's
iﬂ-n..s.: of t:g;;:.“nj 1o Find Hhi "‘{""-MP{I"&_"TJJ‘Q. 25 ming
afier Hao bear was P[&Cﬁ.d In tha rosvn .

d.I.:K.(T‘TNE b K(T"?':"}
ae

TLQ\J = 4p° F
Ty =48 °F

L ¥
TW) = 1o +E,E‘-F‘
T(o) = 4o = 70 +¢,
=2 s~

TU) = 70- 302"t

TUo) = 45 = Jo=30e°"
'SGEIQK e

ok o W

e e

A M)
K___Ilaln(’s)ﬂ- 4'@31
So T =T70- 30703t
Than 'TL"?_E} = ?DFSGE"'-E)E'I{'LE)
X 56,13°F



